Dividing Decimals by Whole Numbers -1

Find the quotient.

336+8= 315+9= 20.37+3=
206.4 + 24 = 171+6= 1245+ 15=
120.25+5= 37.5+15= 3275+ 25=
87.5+5= 8.7+6= 06+12 =
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Dividing Decimals by Whole Numbers - 2

Find the quotient.

246+ 2= 605+5= 40.35+3 =
36.5+5= 168+6= 1245+ 15=
1225+5= 37.5+15= 325+25=
875+5= 144+6= 06+12 =
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Dividing Decimals -1
33.6+8=4.2

206.4 +24=8.6
120.25 +5=24.05

87.5+5=17.5

246+ 2=12.3
36.5+5=7.3
12.25 + 5 = 2.45

87.5+5=17.5

31.5+9=35
17.1+6=2.85
375+15=25=

8.7 +6=145

60.5+5=12.1
168+6=28
375+15=25

144+6=24
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20.37 +3=6.79
1245+ 15=8.3
32.75+25=131

0.6+12 =0.05

40.35 + 3 = 13.45
1245 + 15 = 8.3
325+25=1.3

0.6+ 12 =0.05



